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No. sl A% EEE [ ECGIEETS FIEL EEBHIZ  BERT R | UE stEeke sEmys weess BEEKE BE 0 HEAA =
TREN AN ER | 8K - @K A [ FmBbErR 3.20 ~ 3.40 0.20] 3.30 1.60 2.60 1.39 TR #WEm
2 #EN HE EiE| HK-RK B | THREER 4,00~ 4.98 0.98) 4.49 1.92] 2.92 1.96 IR @E"
3 MEN HE EiF| HK-RK A | THREER 520~ 7.00 1.80 6.10 2.24] 3.24 1.05 IR \@ET
4 |EN wEN ERE | MK - RK B | THREEE 7.00 ~ 7.20 0.200 7.10 2.33] 3.33] 2.12 R [#@EH
5 EII HwEN AE | BK-RK B ThiEtEE 6.20 ~ 6.40 0.20 6.30] 2.25| 3.25 — 8 [#@ED
BEEA iR 2 Bt 2.00 km
= 0 HFF 0.00 km
- [E03i0 km
BEEEB p.= 2 #Er 1.18 km
= 1 & 0.20 km
— &3l km
6w AN EF | JKTE - khE B FmBbErm 0.00~ 0.60 0.60] 0.30 0.8/ 1.8/ — TR #WEm
1 EN wEN EFE KE - REE A THREEE 520~ 5.40 0.200 5.30 2.12| 3.12| 1.43 R [#@EH
8 MEII wEN EFE K& - REE A THREEE 580~ 6.00 0.200 5.90 2.22 3.22| 1.05 R [#@EH
9 mEN wEN BB K - %R B | THhEARE 0.40 ~ 0.60 0.200 0.50/ 0.8 1.88 — R [#@EH
10 #FE)I HwEN EE K - %R A THREEE 6.00 ~ 6.20 0.20 6.10 2.24] 3.24] 3.82 8 [#@ED
BEEA iR 2 Bt 2.00 km
= 0 HFF 0.00 km
- [E03i0 km
BEEEB p.= 2 #Er 1.18 km
= 1 &FF 0.20 km
— [E03il km
TTREN RN TR THTTER BXE P ERr T.60~ 1.80 0.20] 1.70] 1.11, 2.11] 2.40 TR ®Wxm
12 B HwEN p.o [BJITER EEE TRSER 2.00~ 2.20 0.200 2.10] 1.23] 2.23] 3.69 B e R
13 N HEN aF [E 1 B EIE TRibaEF 1.60 ~ 1.95 0.35) 1.78 1.11] 2.11 2.17 LR \ES
14 @ HEII aF 1511 B EXE ThitbhE 540~ 5.80 0.40/ 5.60 2.20/ 3.20 3.59 LR #\@ES
EIERM EE 2 &Fr 0.40 km
BE 2 &Rr 0.75 km
— &5 km
15 HEN REN 3 AE T TR LR 2.20 ~ 2.60 0.40] 2.40 1.37 2.31 2.43 TR WEm BRER (240 80
16 @I HBEI EF| ExRRME TREER 3.40 ~ 3.80 0.40 3.60] 1.70 2.70| 2.81 LR #\@ES BIRER (3.60) 280
17 N HEN EF| ERREME TREBER 5.20 ~ 5.40 0.20/ 5.30 2.12] 3.12 1.43 LR \ES
18 @I HEN R ELARXM TREBER 5.80 ~ 6.00 0.20/ 5.90 2.22] 3.22 1.05 LR \ES
19 N wBEN EF| ExRRXME HBEMN 7.00 ~ 7.40 0.40, 7.200 — - — R \@ET BIRER (1.200 280
20 #EJI HBEI fF| ESXM TiREbE R 4.20 ~ 4.60 0.40) 4.40 1.92 2.92 2.94 LR #\@ES BIRER (4.40) 280
E=15d] EF 5 &Ffr 1.60 km
BE 1 &Fr 0.40 km
— [E05i km




